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For each question from 1 to 28, four oplions are given. One of them ie the correct answer, Make
your choice (1, 2, 3 or 4). Shade your anewer on the Oplical Answer Sheet. 5
8 marks]

1. dembdhindnmhwmmmmdmma 8hs prepared
identical slices of bread, A, Bwamwmmwmmm@mﬁm
contitions as shown.

‘Bread B ' Broad C
molstened witha toasted in oven
fow drops of watar

.. Saly lsft the slices of bread in a dark kitchen cupboard for a week. Which of the following s

oorrect?
T Least Some Nost
bread mould bread mouid bread mould
w | A B ©
@ | 8 c A
® ] c A B
4 c B A
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2, A barrier is used to contain en oll spil at saa as shown,

e AnE BAND P -

-
.h-- -

Which materlal, W, X, Y or Z is most suitable for making the barrier?

. W
2 X
@ v ' ,
@ 2z

3. Thediamshwsasﬂlingguﬁﬁginadarkm

Why Is the sasdiing able to grow?

(1) s seed leaves can make food for the seadling.
(2) Ikt does not need food for its growth &t this stage.
(3) !t obtains the mineral salts it neads from the sofl.
(4) lis sead leavas provide the food required for its growth.
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4, Shudythe lowchart.

Matisr

[

No No
L 4 _
Al | B |

Doss t have & Yee | Dosskhaves Yes
defvilo volume? ! dofinke shape? [~ C

Whet can A, B and C most lkely bo?
A B c
) | watorvapowr ice . paper
R cloud milk * nittogen
3 steam miet iron nall
@ _paper nirogen ik

B.  The ploires show a stage In the file cydle ol 8 mosquit and a frog.

" JE——

young of & mosquilo young of a frog

in what ways are they similar?
A They moult.
B They developed from apgs.
C - Thay rasambia their adulls.
D  They feed on the sams food.
(1) Bonly
{2) AandConly
(3) BandDorly

4 A CandDonly
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6. Study the flowchart.

Objects

!

Can i be atiracted No \
by a magnet? P

fes

Can it be repetied No
by another magnet? {7 Q

Yos

Which of the following about objects P, Q snd/or'R ars comrect?

m
el
)
(4}

A P Is made of steel. -

B Q can be magnetised,

c R can atiract lron nalls.

D P and Q are non-magnetic.

A and D only
B and G only
A, B and C only
A, C and D only

ACS {Junior) P5 Semestiral Assessment 2020

www.testpapersfree.com




7. Tom accldantally dropped a bar megnst which broks into thves pleces as shown. Each broken
plece Is a magnet.

The arrows predict the Interactions balwean two broken pleces when they are brought near each
other. Which of the following predictions s comect?

{1) \

(3

“ -
e L\

8. . Which of the Tollowing are two coract methods of making an fron nall into a magnet?

A B
c D

(h  AandC

2 AsdD

(3} BadC

{4y BandD
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8.

10.

7

The diagrams show the reproduciive systorns of a plant and a human,
of
A

Which part, A, B, C or D, In dlagram 1 has a simflar function as pert X in diagram 27
n A

@& 6
3 ¢
4 0o
The diagearn shows processes W, X, Y and Z which ocour during the ife cycle of a plant,

Z

et 2

Which of the following oorreolly identifies processes W, X, ¥ and Z7

w X Y _ z
(1) | Seeddispersal | Germination Polieation Fertilisation
2 Poliinalion Fertiisation | Seed dispersal |  Germination
{3 Poliination Gennination Forilission | Seed dispersal
(4 Festllisation Polination Sood dispersal | Gomnination
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11, Which of the folloning two characherisiics can be passed on from parents to thelr young?

n
@
)
)

A

OO

Thumbprint
Length of hair
Colour of ayes
Type of sadiobe

AaniB
BawD
CandD
Aand C

L :’mmm P, G, R and S represent difforert processes involving changes in states

//"‘\./

\*_/\

Cas {100°C)

Which of tha following correctly represents processes P, Q, R and 57

).
i
@ |
@ |

P Q R 8
moking | evaporstion boiling freezing
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13.  Which of the following actions would help to consarve water?

A Using & pali of waler io waeh the car,

‘B Tuming off the showsr when voaping.

C . Kesping the tap on while brushing your testh.

D Rousing water used for washing vegelablos to wabsr plants.

(1) AsndBonly
&) CandDonly
3 ABandDonly

{# B CandDonly

14. MomdumdmmmmhMBEuwmdmmmmd
mmmm.mmwuumwwmnmmmm.

plastic
|/’ box ~. |

1 ~——opening
glass of _§ glass of .|
250 mi wator X 250 ml weler

Set-up X
Which graph Mwmmmmammmmhmwammﬂ
{1}

2 volume of water {mi)

Y

ACS (Jurdor) PS Semestral Assessment 2020
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Orgammh
human digestive
sysiom
-1. Is water absorbed
Does digestion take | MO from undigastod
place heea? food herg?
JY&
s foodd No | ##ood chewed into
digesied here? smalier pleces
Yo
| (-]

%

mdehmmmdehhm“

digestive system?

w X Y 2
(1) ] stomach moyth | largaintestine |  stomach
() | smallintestine | slomach |  guiet | smelitestne
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16. Study the plant.

11

Which of the following iwo stetements are rue about the plant?

A Rhaszwesk siem.

B It does not have roots.

c It reproduces by seeds.

D The cells in the stem do not have ceoll walls.

m
{2)
(3)
)

AaiC
AsndD
Band D
Band C

<

17.  Tha diagram shows a plant at different stages of growth.

In which direction is food transported at X and Y7

)
2
(3)
@

X A
upwards upwards
upwards downwards

downwards upwards
downwards downwards
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18, Alex prepamd the following sot-ups using four identical test tubes and ieft them In the garden
for a few hours as shown, -

selap P seb-up O

phant ﬂék wnal

Liguid ¥, whan mixed with water, forms a mixiure which changes colour according to the
amount of carbon dioxide present, as shown In the table,

Amount of corbon dioxide Colour of mixture
Low bkwe
Normal green
) High red

. Alex added & fow drops of ¥quid Y into each test fube. The mixture in set-up S lurned gresn.
~WWhich of the following comectly shows the calour of tha mixiura in the other three set-ups?

Setup P Sp@ |  SetapR
g red blue green
@[ bwe green green
(3) gresn C bue blue
(4 " blue vod rod

ACS {Junior) P5 Samestral Assessment 2020
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19.  Theamowsin the diagram showthe direction of blood flow in some parts of the hunran body.

Mpabl:;fﬂw " Heart | Lungs
Z Y

wnmdﬂwbmmmmmmmammthuamumwmm

W, X, Yand 27
A W contsins mors oxypen than 2.
B W contains less oxygen than Y.
c Y conlains lass oxygen than X,
D Z containg more oxygen than X.

(1) AoandConly

(2} BandDonly

(3 ABandDonly
- (& B,CoendDonly

20. mmaummmmmmm cell and leaf oell, under a
- micrescope, He counted the number of the different cell parts, A, 8 and C, in each cell and
: recorded the numbers i the table.
- Number of cell parts
5 _
0
0
12

Q

- Human cheek cell
Root cell
- Laaf opll

v | waf Pm
)l =kl O

Which of the following cell parts do A, B and G most likely represent?

A B ¢
(1 Nucieus Chicropiast Cell wall
) Nucleus Cell wall " Chioroplast
(3 ~ Coliwall Cel membrane Chioropiset
{4) Cell mambrane Chiovoplast Nudieus

ACS {Junior) P5 Semestral Assessment 2020
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21.  The diagsam shows a bulb.

14

‘Which part(s) of the buib can conduct electsicity?

{) Bonly

) AeandDonly
(3) CandDonly
(4) A CandD only

22, Jan set up a circult using wirss, two betterles, ivee swiiches, 81, S2 and 83, and four abjeots,
E, F. G and H, a3 shown. One of the objects was a light bulb. The batidries, switches and
bulb were in working condiion.

- '

|

. 51

e

m-Mem-mmmmmmmm

—

S1and $3

Buiib lighted up

StendS2

Bulb did not bght up

Which of the Tollowing correctly represents objects, E, F, G and H?

F

(M {7 onbe

| gasemarble | bub

(2} |  rubberbal

bulb

& | gematie |

tron ball -

- glassmable. |

(4 subber ball

et

ACS (Junicr) P5 Semestral Assessment 2020
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23. ‘The ciagram shows four circults with identical bulbe and batteries in working condition.

—{ L]

@ v

G 3

Which two bulbs in the circults witl have simiiar brightnese?

{} AsndC
(2) AandD
3) BamdC
{4) B&MP

ACS (Junior) P5 Semestral Assessment 2020
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24, The diagram shows thres cut-outs, A, B and C, each made from a differant material.

130 om 30 em

—

Cut-outA Cm-outB Cut-out C
0cm

& " * &
30 om|
v
e >
30 om '

The three cut-outs then and
] A m Mbaelhar placed betwesn a fight source and

fight eource

71N

topether

The diagram shows the shadow formed on the soreen.

" CuwbotA |  CabowtB | CutostC

2 canboard plastic sheet . huminim fol

@ [ chwgas | cadboan | wedingpeper

@ [ wengpeper | odadgles | plesfoshest
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28. Sam conducted an expariment using four differant metal contalners, A, B, C and D. He
piaced some water in sach container and healed them with a similer heat source. He
recorded the time takes for the water in each container to boll.

Melal | Volume of water | Starting temperative | Time taken for
Contalner | 8t the start fml) ofwater °C) - | waterto boll (min)
A 80 20 10
B 80 0 10
c 100 30 10
D 100 30 12

Which metal container Is the best conductor of heat?

M A
@ B
) C

D

-

@

28. Marcus conducted an experiment as shown,

=

balc
- {both sides coated
with a layer of oll )

Which leaf{s) is/are not able to make food?

(1) Bonly

() A=ndConly
) BandDonly
(4 A CandDonly

ACS {Junior) PS Semesiral Assessment 2020
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27.  Refl placed four objects, A, B, G and D, under the Sun. Which of the following object(s)
can refect sunlight into Rafl's eyes?
A mirror
shiny metal
biack paper
clear glass

o O m

(1) Conly
(2y Donly
{3} AandB only
4 ABCandD

28,  Ezra sat up sn experiment as showr. The drop of ink was in the middie of the giass tube at the
start of the axperiment. He then poured hot water at 80°C into basin A and cold waler at 10°C
intc barin B at the same tima,

glase tube drop of Ink

mmdmﬁwmmmmmmmoﬂmm move and the
reason for ks movement aftee three minutes?

- T , _

will move ‘ Reason

A «—— | AFinYganed heat and expanded.

B +—— | ArinXlost heal and contracied.

¢ T— A¥r i X gained heat and expanded.

D —— [ Akrin Ylost hoat end contracted. |
{11 Conly
2 AandB
3y AandD
@) CandD

End of Booklet A
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For questions 29 o 41, writs your snswsrs in this boolkiet.
The number of marks svaliable is shown In brackets { ] at the end of each question or part question.

[44 marks]

29  Susie fited & deflated bafloon over the mouth of an emply plastic boltle and blew into the
batioon a8 shown, The balioon inflated a tte bul could not inflate fully in the botile.

{a) (1

. Without replacing the plastic boltle or balloon, sugghst what Susie dobﬂnsholﬂn.
(mmmmmmmmgwmm ‘ - i)

{c) Exﬂﬂnhwyowum»ﬁmin(b)wmmmb!m&sm&hﬂoﬂwha%

ACS (Junior) P§ Semssiral Assessmenl 2020
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30. Jerry tested the magnetic strength of four magnats, A, B, C and D by pushing each magnet
towargs the steel balt untl the steol ball was atiracted 1o the magnel. The distance at
the magnet atiracted the stes! ball is known as the pulling distance. :

The resuits of his experiment are shown in the tabla.

Magnet Pulling Distance {cm)
A 7
B_ 3
c 8
D §

(2)  Order magnets A, B, C and D, from the strongest to the weakest. 1}

{b) State the relationship betwoen the puliing distance of a magnet and s magnetic
strongth. 1]

r

(¢)  Jery replaced the steel ball with an aluminium ball. What change will he observe
when he pushes each magnet towards it? Expiain why. ) 11

(Go on 1o the next page)

SCORE
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{8)  Namae ports W end X, Stsie the funclon of cach pert

Name

Function

PartW

(b)  Siato one similarty betweon ferlilisation in flowering plants and in bumans.

ACS {Junior) P5 Semesiral Assessment 2020
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a2 The diagrams show two fruits, X and Y.

hook-kke

Fruit X FrutY
() Doscribe how the fruits are dispersed based on their characteristio(s). 2}
Fruit X:
Frul'y =
(b)  Explain why plants disperse their seeds far away from the parent plant. 1.
{Go on to the next page)
SCORE
ACS (Junior) P5 Semestral Assessment 2020 | 8
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33  200mi of water each, at different lamperatures, were poured info three identical mstal cups,
P, Qand R, and left on a table. ARer some ime, &t was observed that water droplets formed
only on the outer surface of cups P and R, as shown.

CupP

(a)  Orderthe oups, P, Qand R, etarting from ﬁnmwhwaﬁaratﬂaelowezﬂemperalum.

Lowest temperature » Highest tamperature

(b)  Explain why no waler dropleis wers formed on the outer surface of cup Q. vl

- Watee In Gup € was therv poured bilo a keltle and heeled over a gas bumer uniil a wilite mist
was seen forming near the spolit of the kettie.

{¢) Explain how the white mist was formed. 2l

{CGo on td the pext page)
SCORE
5
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34  Matthew conducted anexperiment using

7

wo similar tometo

Aand B, with simitar

MW&&WMWWMWM&MA&MXWWW
the food-carrying tbes were removed along with this outer ring as shown.

After a month, Matthew recorded the volums of the tomato frults of pianis A and B in

tho table.
* | | e
- A 5emd om

B 5 cm? 7om® ‘
T"(a) EmblnwprhntAptodmodeﬁuIsMphrﬂBdhrammﬂ!. : rd |

(b} Givera reason why piant A sterted to wik after a few monthe.

U]

ACS (Jumior) PS5 Samestral Assessment 2020
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35 - Jack caied out an expariment by pouring S00m! of water sach into thres glass contalners, X,
Yandz.whimmpmodmmmm

— 0 =

Container Y

()  He messired the amount of water left In each container every hour and plotiad his
mﬁhaMFﬁhhmhhwmhm&Yamemme
res L]

Amount of waler in .
the contalner (ml)

Tlme?h}

(b)  State the aim of Jack’s experiment | i}

{Go on o the next page)
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g
Aﬁaraheavymh,Jaekuwdaplasﬂcronerbapreadommpmﬁofmwmmemm

) Explain why his action caused the tennis court to dry faster. (1}

{Go on to the naxt page)
SCORE
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38(a) The fable shows fhe difference In the amount of four gases, A, B, C and D, in inhaled

and exhaled air.

Gas  inhalod alr Exhaled air

A " Less More

B Less y More

C Remain the same Remain the same

b | More | Less
Which gases, A, B, C or D, are nirogen and oxygen? 0
() Nitrogen:_ '

() Oxygen:

(b)  Miss Sara was wearing her face mask while she was expiaining a Scienoe quastion
as shown. ) '

()~ She mﬁcadﬁnywbr&opleisfommm her spactacies. State where the finy
wates droplets came from. ' . M1

(i) The face mask is able fo fiter some finy particles in the air. Which part of the .

Mmmmplmswmhrm:mmcﬁonasﬁwmw ]
(Go on to the next page)
3
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a7 Gabrisl walked Fom his houss to the stadiue. At the stadium, he dkd pome Warm-up
sxercisss before he started running a distance of 1.6 km. After his run, he did some
stretching exercises o cool down before he walked home.

mmmmw:mmchmmmmmmmmunm

he cooled down.
m«dmwwmma)
i
}
!
[}
! |
-a | |
A ! 8 c D E |
L . iy
Time (mins)
(2) Maighparts A, B, C, D and E In the graph to Gabriel's activities from the time he
left his house till ho waked back home. 13
Activity Purt of graph
1. [1.6kmmun .

2. | Wam-up exercise
3. | Walking back home
4. | Cool down stretohes
5. | Walking to the stadium

(b) What happened 1o his heart rats while he was running? Explain why. 2

{Go on o the next page)
SCORE
ACS (Junior) P5 Semestral Assessiment 2020 3
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s Mmsehupackwﬂhradoornhmmmahmr twobaﬂarles,wimandsm
matal sirips connaciad i a wooden door. ﬂndlagramslmmeckwlmnthaﬁw
is opaned and ciosed.

wooden door when openexd wooden door when closed

{(a) Explain why the buzzer sounded when the door was opaned In dlagram 1 L]

(b) mmutmmmmmmumdmmmnmmumm .
thnhumrpmdtmamarm {1}

{Gommﬁmnextpage)

SCORE
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(¢) Maximus wanted % connect a ulb to the clroult so that the buib would light up
aven when the buzzer is not working.

Basod on disgram 1, draw a circuit diagram with the additional bulb. Use the key
provided in your diagram.

Key:
O e
1 O coppersuip
T Aumioium sip

(Go on o the next page)

SCORE
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38  The sst-up shown uses a nghlmhcomthemmﬂaerofpeoplewalklngﬂmgh

the door.

\ -
Yght source on the walt

7
People entering through a door

Whenaparsnnbbmholdﬂmmdﬂnw.htsbodyblmmem
from maching the sensor. The amount of fight detiected by the light sensor is recorded

in the graph.
Amount of kght (nits)
l_l : . I—I ﬂ _ Time
0 i | > (minutes)

(a) Based on the graph, how many people entered the hall atthe end.of the second”
minute? 1]

{b) Stata the properly of light that aliows the set-up to work.

t]

(¢} Stato two disadvaniages of the sabup and give reasons why. =)
[2 |
- - (Gabn-ta&wmm,paga)_

ACS (Junior) P5 Sermestral Assessment 2020
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40  Lukas oonducied an experiment 1o find out how the amount of tight affects the rate of
pholosynthesis in a plant.

He recorded the results in the tabls.

Amount of light (units) | 20 40 60 80 100 | 120

AR RRE

{a) State two substances that plants produce during photosynithesis. i)

the distance between the light source and the plant the same
® mmmmmwmwamm _ 4]

(c) Predict the number of bubbles producad by the plant when the amount of ight is

- increased to 150 units, Explain your answer, {1

{Go on to the next page)

SCORE
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41 Ethan conducted an experiment fo find out which maierlal that the three rods, A, B and
C are made of, Is the best conducior of heal. He prepersd the ssl-up as shown.,

hot piate

He recorded the ime taken for the wax o mek completaly on each rod in the fsbie.

Rod A B ¢
Time taken {min) 16 4 22

{a) Based on the resulls of the expariment, what cen Ethan conclude about the threa
matetials? [1]

{b) nmdwandmaheahrmnmdmmhmmmeamkeep
theaimammmn,

-Exphinwhymndmamaﬂiiﬂﬂkﬂmbaﬂmmofheatforﬂle
heating rods. i

~ {BGo onio the nexi page)

ACS {Junlor) P8 Semestral Assessment 2020 - S e 2
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the offectivencss of the haater. He conneciad a lemperalure sensor
to a data mmmummdﬂu_m alr at different
distances from ths heater as shown,

heater temperaiure sensor

He recorded his results in the table.
Distance, d {cmn) 0 L] 10' 15
Temperature of
surrounding alr {°C) 70 65 55 , 40

{c) State the relationship between distance, d, and the temperature of the surrounding
alr.

£

(@) Based on the results, should Ehen piace the heater 5 am away from where he
gloeps? Give a reason for your answer.

End of Paper

{1

]
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SCHOOL

- ANGLO — CHINESE SCHOOL (JUNIOR)

LEVEL : PRIMARY 5
SUBJECT : SCIENCE
TERM : 2020 SA2
SECTION A
a7 6z T a3 | a4 | a5 | a6 | a7 | @8 | @9 | Qfo
3 4 4 3 1 2 3 3 1 2
Q1| iz | a2 [ a4 | ais | Qie | Q17 | Q18 Q19 | Q20
3 2 3 1 2 1 2 4 2 1
Q21| Q22 | Q23 | Q24 | Q26 | Q26 | Q27 | Q28
4 1 1 1 3 2 4 4
SECTIONB -
Q29) (a} Air inside the bottle took up space. -

(b) She could poke a hole in the bottle.
(c) When the balloon is infated, it pushes the air in the bottle and the air
would escape from the hole allowing the air in the balloon to occupy
_ the space previously occupied by air. |

Q30)

(a) CADB

(b) The longer the pulling distance of a magnet, the greater its magnetic
strength.

{c) The magnet would not attract the aluminium ball. Aluminium is not a
magnetic matetial and would not be atfracted by the magnet.

a31)

(@ ()  womb (ii) It is a space for the foetus to grow
(] Testis (if) It produces sperms
(b) The male sex cell would fuse with the female sex cell.

Q32)

(a) Fruit X: it-has a hook ~ like structure and will hook onto the-fur of
animals and fall off the animal for its seeds to be dispersed.

Pgl
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Fruit Y: It would be eaten by animais-and its small seeds would.be
passed-out in the animal’s droppings.

(b} it is to reduce overcrowding and competition for sunlight, water,
nutrients and space.

1 Q33)

&a)RR-rPP-» 00
b) Cup Q was at room temperature. The surrounding water vapour was

also at room temperature. The water vapour had no cooler surface to
land on, lose heat and condense to form water droplets.

(c) Water in the kettle gained heat from the-gas burner unti! the water
reached 100°C. The water changed into gaseous state and escaped
into contact with the surrounding air, lost hear and condensed into

' tiny water droplets which, was the white mist that was seen.

Q34)

(2) Food made by the. leaves of the plant is stored i in the fruits whn::h

caused the fruits to become bigger. Fruits produce by A was bigger
. than fruits produced by B as part of A's food carrying tubes was cut

off, no food oauld be transporied to the roots and ali the food made
by the leaves was stored in the fruits.

{b) No food could be transported to the roots as part of the food —
canying iubes was removed. Without food the roots could not absorb
water so the plant wilted. '

Q35)

(ayY, Z, X

(b} To find out howthe exposed surfaoe area of water to the
surroundings affects evapecration of water.

{c) The plastic roller spreads out the puddies of water on the tennis
count $0 the surface area of water exposed 10 the surroundings
would increasé and the rate of evaporation is faster causing the
tenms ‘count to dry faster

1G38)

“@HC

(i) D _
{b) The warmer water vapour from her mouth
(c). The nose-hair.

asn |

(a)€BEDA

{b) Hi$ heart rate increaseéd while he was running. His heart hadto
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pump faster to pump blood rich in oxygen and digested food to all
parts of the body faster to release more energy and to remove more
carbon dioxide from his body.

Q38)

(a) Copper and aluminium are conductors of elecﬁicﬂy, When the door
was opened, the copper stfip came into contact with the aluminium
strip forming a closed circuit so electric current could pass through
the whole circuit. .

(b) He can add mote batteries to the circuit

(c)

_——{‘I

Q39)

(a) 6

(b) By an opaque object

(c) A: It cannot detect people more than 1m high
Reason: light source and sensor at~1m high
A: It cannot detect more than 1 person passing through at a time
Reason; the graph will not show more than 1 person entering.

Q40)

(a) oxygen, gluctse

(b} it ensures that the amount of bubbles produced in 1 minute is only
due to the amount of light and not due to the distance between the
light source and the plant.

(c) 92, there is a maximum rate of photosynthesis.

Qa1)

{a) B is the best conductor of heat followed by A and C.

(b) The heater can heat the room up the fastest and conduct heat the
fastest. _

(c) The greater distance d is, the lower the temperature of the
surrounding air.

(d) No. It would be too hot.
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